
Lp Nazwa odbioru Ilość kj

Moc 

jednost

kowa 

[kW]

Moc 

szczytowa 

[kW]

cos fi

 Moc 

szczytowa 

pozorna 

[kVA] 

1 Winda 1 1 11,51 11,51 0,9 12,8

2 Oświetlenie szybu windy 1 1 0,50 0,50 0,9 0,6

3 Centrala wentylacyjna 1 1 1,50 1,50 0,9 1,7

4
Klimatyzacja - jednostka 

zewnętrzna
1 1 6,60 6,60 0,9 7,3

Suma: 20,1 22,3

Globalny współczynnik 

jednocześności:
1 20,1 22,3

Lp Nazwa odbioru Ilość kj
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szczytowa 

pozorna 

[kVA] 

1 Winda 1 1 11,51 11,51 0,9 12,8

2 Oświetlenie szybu windy 1 1 0,50 0,50 0,9 0,6

3 Centrala wentylacyjna 1 1 1,50 1,50 0,9 1,7

4
Klimatyzacja - jednostka 

zewnętrzna
1 1 6,60 6,60 0,9 7,3

5 Nagrzewnica 1 1 8,00 8,00 0,95 8,4

Suma: 28,1 30,8

Globalny współczynnik 

jednocześności:
1 28,1 30,8

Żeromskiego - bilans mocy


